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CLASS : 7th  SOQ EXAM    DATE : 25/02/2024 

TIME : 1 Hr.  Subject : MATHS   MARKS : 100 

Students Name:  ___________________________________________________________ 

   

SECTION – I  

1) For a non-zero integer ‘a’, which of the following is not defined? 

 A) 0 ÷ a   B) -1 ÷ a    C)(-a)÷(-l)   D) a ÷ 0 

Direction (Q. No - 2 - 3): Study the graph carefully to answer the following questions. 

 
2) What is the difference between the total number of girls enrolled in stitching and 

dancing from all institutes together? 

 A) 50   B) 25    C) 75   D) 85 

3)  What is the total number of girls enrolled in painting from all the institutes 

together? 

 A) 1150   B) 1200    C) 1275   D) 1100 

4) At what price must Sunil sell his piece of land, which costs him ₹ 600000, so as to 

make a profit of 25%? 

 A) ₹750000   B) ₹650000    C) ₹ 840000  D) ₹ 800000 

5) The sum of three rational numbers is 
72

55
2  . When the largest rational number is 

divided is 
5

2
2 , Which is 

40

21
1 more than the middle one. Find the three rational 

number  

 A) 
9

4
,

7

3
,

2

1
  B) 

8

41
,

9

5
,

3

2
   C) 

9

2
;

8

7
,

3

1
  D) 

9

5
,

8

7
,

3

4
 

6)  Simplify 

 (8x2y— 10 xy2) —(12x3 + 15 x2y) + (25xy2 - 20y3)  

 A) -7x2y+ 15xy2-12x3-20y3    B) 7x2y - 15 xy2 + 12 x3 + 20 y3 

 C) -7x2y - 15xy2 -12x3 - 20y3   D) 15 xy2 + 7x2y - 12 x3 - 20 y3 
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7) Read the statements carefully. Write ‘T’ for true and ‘F’ for false.  

 i) a0  b0  c0 = 1     ii) 
( )
( )n

m

nn

mm

xy

ab

yx

ba
=




 

 iii) (am  an)  (an  am) = 1     

 iv) (10 + 20 + 30 +40 + 50)  100 + 60 






 +
0

00

5

43
= 70   

 i ii iii iv 

A) F T T T 

B) T F T F 

C) F F T T 

D) T T T F 

 

8)   If  ₹ 3760 is divided into two parts in which one part is 7/8 of the total, then find 

the other part. 

 A) ₹ 470   B) ₹ 915    C) ₹ 725   D) ₹ 3290 

9) Evaluate : 







−








++

5

1
2

5

2
13

3

1
2

6

1
3

2

1
4  

 A) 
55

12
19−   B) 10    C) 

25

12
10   D) 

25

12
1  

10) What should be subtracted from 6p2 + 7q2 + 6pq to get p2 - q2? 

 A) p2 + 8q2 + 6pq     B) 5p2 + 8q2 + 6pq 

 C) 4p2 + 5q2 + 6pq     D) 5p2 + q2 + 6pq  

11) The value of 
( )( )
( )( )45/1

45/1

1024

243
= ______________.  

 A) 
4

3
   B) 

4

4

3
−









   C) 

44 34

1
−− 

  D) 
44 34

1
−

 

12)  Amar reads 

th










8

1
pages of a book on one day and 

th










5

3
 of the remaining pages of 

the book on another day. If now, there were 70 pages unread, then how many pages 

did the book contains? 

 A) 240    B) 300    C) 200   D) None of these 

13) Which of the following rational numbers satisfies 4(a + b) = 10 (b + c) ?  

 A) a = -2, b = 
3

2
− , c = 

5

2
−     B)  a = -10, b = 

11

9
− , c = 

12

7
−   

 C) a =
12

7
− , b = 

11

7
− , c = 

12

5
−    D) All of these    

14) How many binomials are there?  

 i) x2yz – xy2z + xyz2  ii) 3pq2 + 3p2q  iii) 100  iv) -2a + b  

 v) 2a – b    vi) 10 a + 7b  

 A) 5   B) 3    C) 4   D) 2 

15) Select the incorrect option. 
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 A) 25 as a percentage of 75 is 33 
3

1
 

 B) 35 paise as a percentage of 8 rupees is 4.375 % 

 C) 40 seconds as a percentage of 6 minutes is 11 
9

2
% 

 D) 400 grams as percentage of 5 kilograms is 8% 

16) Simplify: 
33

2

3

3

2

1

3

1

4
9

1

2

3








 −








 −











=  

 A) 
71

9
   B) 

7

64
    C) 

24

79
   D) 

24

97
 

17) When y is multiplied by 11 and 7 is added to the product, the result is 29. From an 

equation which represents the above condition. 

 A) 11y + 7 = 29  B) 11y – 7 = 29   C) 7y + 11 = 29  D) 11y +7y = 29 

18) A sum of ₹ 2000  amounts to ₹ 2400 at simple interest. If the interest rate is 

increased by 5% p.a., then it would amount to how much?  

 A) ₹ 2420  B) ₹ 2400   C) ₹ 1208  D) ₹ 2640 

19)  Find the value of 4y +2, if one - third of y is equal to 26. 

 A) 310    B) 106    C) 314   D) 104  

20)  If each of the length and breadth of a rectangular 

 garden is increased by 2 cm, then find the new area 

 of the rectangular garden.  

 A) 2

50

23
6 cm   B) 2

100

49
9 cm    C) 2

12

1
11 cm   D) 

50

21
10 cm2 

21) How many unit cubes are required to make it a cuboid ? 

 A) 12   B) 5 

 C) 9   D) 6 

22) If 
657

cba
== , then 

b

cba ++
 is equal to _________  

 A) 7    B) 
5

1
2     C) 

6

5
3    D) 

5

3
3  

23)  Evaluate 

9

2
1

9

5
2

9

2
5

3

1
3

6

5
4

4

3
2

−−

−+

 

 A) 
52

29
1    B) 

52

17
    C) 

52

49
2   D) 

52

49
1  

 

 

24) A fair die has faces numbered 1, 2, 4, 7, 8 and 9. If it is thrown, the probability of 

getting an even number is _______ 
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 A) 1   B) 
3

2
    C) 

6

5
   D) 

2

1
 

25)  The bar graph below shows the number of books of each type in a school library. 

 
 Find the ratio of number of fantasy books to the total number of books in the 

library. 

 A) 13 : 4  B) 5 : 64   C) 5 : 13  D) 4 : 13  

SECTION – II  
26) Find the missing angle and match the columns. (Figures not drawn to scale)  

 Column – A   Column – B  

P) 

 

i) 600 

Q) 

 

ii) 700 

R) 

 

iii) 1200 

S) 

 

iv) 1300  

  

 P Q R S 

A) iv ii i iii 

B) i iii ii iv 

C) ii i iv iii 

D)  iv i iii ii 

 

27) The net of a die is shown below. Which of the following dice cannot be formed using 

the given net? 

         A)    B)   

        

         C)    D)  

 

28) In the given figure, HC ||GD. Find the value of k.  
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 A) 750  

 B) 600  

 C) 650  

 D) 700  

29)       In the adjoining figure, find the measure of  DOC.  

      A) 600   B) 750  

      C) 360   D) 450  

30) Which of the following shadow cast by cube? 

 A) Rectangle  B) Circle   C) Hexagon  D) Square 

31) In  ABC, AD is the bisector of  A meets BC and BC at D, CL is perpendicular to 

AB and M is the mid – point of AC. Which of the following is the median of the 

triangle?  

 A) AD       B) BM  

 C) CL       D) Can’t be determined 

32) Identify the pair of vertically opposite angles and supplementary angles in the given 

figure. 

 

 Vertically opposite angles Supplementary angles  

A)   DCE and  DCA   DCE and  ECB 

B)  ACD and  BCE  ACB and  BCE  

C)  ACB and  DCE   ACD and  BCE  

D)   DCA and  ACB   DCE and  DCA  

 

33)      How many minimum triangles must be shaded to 

      make the given  figure symmetrical along line AB?     

     A) 1   B) 2   

     C) 3   D) More than 3    

34) Find the value of P,Q, R, S respectively (in cm).  

 Radius  Diameter  Circumference  

i) 14 cm P S 

ii) 35 cm R Q 

 A) 28, 80, 70, 220     B) 28, 70, 80, 220  

 C) 28, 220, 88, 88     D) 28, 220, 70, 88 

 

35) To reach school from his house. Rachit went 12 km towards South, then 5 km 

towards West. What is the shortest distance between Rachit house and his school? 



SHRADDHA GROUP OF INSTITUTIONS 6 

 

 A) 13 km   B) 14 km    C) 15 km   D) 16 km 

36) Which two of the three triangles are congruent to each other by SAS congruency? 

         A) (i) and (iii) only 

         B) (ii) and (iii) only 

         C) (i) and (ii) only 

         D) Both (i) and (ii) and (ii) and (iii) 

37) Which of the following figures are symmetrical? 

 A Only P   B)Only R 

 C) Only Q   D)Both P and R  

38) In the adjoining figure,  ABC   DEF, if  ABC = 550 and  ACB = 60, then find 

the measure of  DFG.  

        A) 1150   B) 1300  

 

        C) 1500   D) 1200  

 

39) If the radius of a circle is increased by 60%. then its circumference will increase by 

 A) 75%   B) 40%   C) 60%   D) 70% 

40) Find the perimeter of the shaded region. 

 A) 264 cm 

 B) 66 cm 

 C) 132 cm 

 D) 333 cm  

 

SECTION – III (ACHIEVERS) 

41) Using the given relation between 0F and 0C, find the value of X – Y  + Z. 

 0F = 
5

9
(0C) + 32   

Temperature in (0C) Temperature (in 0F) 

-220 X 

Y -418 

-300 Z 

 

 A) 622   B) 508   C) -622  D) -508 

 

 

 

 

 

Direction Q. No. (42 - 43) : The given line graph shows the number of bikes sold by a 

showroom in the first 8 months of a particular year. 
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42) What fraction of the total bikes were sold in 3rd  and 7th months together? 

 A)9/35   B)1/5    C)2/5   D)8/35  

43) What is the range of the given data? 

 A) 2000  B) 1000   C) 1500  D) 2500 

44)  In the given figure, ABC is a straight line, AC ||EF and BF ||CD. If  BGA = 700,  

BFE = 500 and  DEF = 300, then find x + y.  

 A) 1200  

 B) 1300  

 C) 1250  

 D) 2100  

45)  Read the following statements carefully and select the correct option. 

 Statement-I: If two sides and the included angle of one triangle are equal to the 

corresponding two sides and the included angle of another triangle, then they are 

congruent to each other by SAS congruency. 

 Statement-II: If all three angles of one triangle are equal to corresponding angles of 

another triangle, then they are congruent to each other by AAA congruency. 

 A) Both Statement-I and Statement-Il are true. 

 B) Statement-I is true but Statement-Il is false. 

 C) Statement-I is false but Statement-Il is true. 

 D) Both Statement-I and Statement-Il are false. 

 

46) Find the values of P + Q + R.  

Shapes Order of rotational symmetry Number of lines of symmetry 

Pentagon P 5 

Octagon 8 Q 

Decagon R 10 

 A) 18   B) 27    C) 19   D) 23 

 

 

47) Fill in the blanks and select the correct option 

 i) The distance between two ________lines is same everywhere. 
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 ii) The difference of two complementary angles is 45°. Then the larger angle is______ 

 iii) If an angle measures ,then its complement is 30° 

 iv) An angle which is half of its supplement is a measure of  

 i ii iii iv 

A) Intersecting 98.5° 4Q0 30° 

B) Parallel 900 60° 60° 

C) Intersecting 45° 700 30° 

D)  Parallel 67.5° 600 60° 

 

48)  In the given figure (not drawn to scale), ABCD is a rectangle in which CE intersects 

AB at point E and ADFA is semicircle whose diameter is AD. What is the area of the 

unshaded region of the given figure? 

 A) 71.25 cm2  

 B) 67.75 cm2  

 C) 61.25 cm2  

 D) 77.75 cm2   

49)  Consider the given figure (not drawn to scale) and find a + b + c.  

 

 A) 2510   B) 2270   C) 1470  D) 740  

50) The given figure is made up of 3 squares. The ratio of the area of square X to that of 

square Z is 4 1. The ratio of the shaded area to the total unshaded area is 6 : 7. 

What is ratio of the area of square X to the area of square Y? 

 A) 37 : 52  

 B) 52 : 37 

 C) 14 : 53  

 D) 57: 32  
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1). Choose the correct alternative that will continue the same pattern and replace the 

question mark in the given series.  
                 

120, 99, 80, 63, 48, ?
 

(A)35

         

(B)38

            

(C)39

               

(D)40

 

2).  Find the missing number in the given analogy. 

27: 3 :: 64: ? 

(A)6  (B)4   (C)7 (D) 3 

 3). Find the odd one out 

(A)National Anthem: Jana Gana Mana  (B)National Tree: Indian Neem  

(C)National Bird: Peacock  (D)National Animal: Royal Bengal Tiger 

4).  Find the missing number in the given analogy. 

 BCDF : GHIK : : LMNP : ? 

A. QRST B. QRSV C. QRTS D. QRSU 

5). If, in a specific language, the code of ENTRY is 12345 and that of 
STEADY is 931785, what will be the code for the word ARREST? 

A). 744589       B). 188924          C). 744193          D). 745194
 
   

6). In a certain code language ‘481’ means ‘sky is blue’, ‘246’ means ‘sea 
is deep’ and ‘698’ means ‘sea looks blue’. What number is the code for 
‘blue’.

 
A) 8     B) 6       C) 1     D) 9 

7). Given that: A is the brother of B. C is the father of A. D is the 
brother of E. E is the daughter of B. Then, uncle of D is? 

(A) A  (B) B               (C) C                   (D) E 
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8). In a family, there are six members A, B, C, D, E and F.  A and B are a 

married couple, A being the male member. D is the only son of C, who is the 

brother of A. E is the sister of D. B is the daughter-in-law of F , whose 

husband has died. How is E related to C?  

(A)Sister (B) Daughter  (C)Cosin  (D)mother 

9). A man walks 2km towards North. Then he turns to East and walks 10 km. After 

this he turns to North and walks 3km again he turns towards East and walks 2 km. 
How far is he from the starting point? 

(A)10 km  (B)13 km 

(C)15 km  (D)None of these 

10).
 
A man is facing north-west. He turns

 
90o
 

in the clockwise direction, then
 

180o
 

in 

the anticlockwise direction and then another
 

90o in
 

the same direction. Which direction 

is he facing now?
 

A) South
 

B) South-west
 

C) South-east
 

D) East
 

11). Which of the following Venn-

 

diagram correctly illustrates the relationship among the 
classes:

 

Tennis fans, Cricket players, Students
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12). If triangle represents Students, rectangle represents Employed and circle 

represents Engineers. Then which number represents Employed Students that are 

not Engineers? 

 
(A) 10  (B) 12  (C) 8  (D) 3 

13). If "α" denotes "subtracted from", "β" denotes "multiplied by", "θ" denotes "added to" 

 

10 θ 8 β 4 δ 8 α 9 =? 

(A) 5  (B) 7  (C)9  (D)11 

14). If signs '+' and ' - ' and numbers 4 and 8 interchange between each other, then 

which one of the following four equations would be correct?  

(A) 4 - 8 + 12 = 0          (B) 8 - 4 ÷ 12 = 8 

(C) 4 ÷ 8 -
 

12 = 16
        

(D) 8 ÷ 4 -12 = 24
 

15).
 
Choose the correct alternative that will continue the same pattern and replace the 

question mark in the given series. 
 

          
1, 1, 4, 8, 9, 27, 16,?

 

(A)32
  

(B)64
  

(C)81
  

(D)256
 

and "δ" denotes "divided by", then  
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16). If all  the digits  are dropped, which  of the following  is third  to the 

right  of the eleventh  from the right  end?  

* E 7 O & 6 ^ 4 Z 5 * 3 9 T ! D # 2 $ U 

(A)^   (B)8   (C)Z   (D) & 

17).  In the following question, a word has been given, followed by four other 

words, one of which can be formed by using the letters of the given word. Find that 

word.   DEMOCRACY

 (A) SECRECY               (B) MICRO  (C) MARCY                  (D) DEMON 

18).  Amit is 24th from the left end and 6th from the right of Sumit. Anuj is 33th from the 

right end. Sumit is between Amit and Anuj. What is Anuj’s position from the left end? 

(A)11  (B)10  (C)12  (D)13 

19).Arrange the words given below in a meaningful sequence. 

          1. Heptagon, 2. Square, 3. Hexagon, 4. Polygon, 5. Triangle 

(A)5,2,3,1,4  (B)1,5,3,2,4 

(C)5,3,1,2,4  (D)2,1,3,4,5 

20).   Select the odd one out. 

(A) ABDG (B)IJLO (C)PQSV (D)WXZA 

21). In the following question, the first and second figure of the problem figures 
have certain relation between them and the same relation exists between the 
third figure and one of the four answer figures (A), (B), (C) and (D). Find that 
answer figure from the options that will replace '?' from problem figures.   

?:
  

(A) (B) (C) (D)

(A) (B) (C) (D)

Problem figures

Answer figures
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22). Find out missing figure (?) of the problem from the given answer 

figures. 

 

23). Choose the alternative which is closely resembles the mirror image of the given 

combination. 

 
24). Choose the alternative which is closely resembles the water-image of the given 

combination. 

 

25). Select a suitable figure from the four alternatives that would complete the figure 
matrix. 

 

(A) (B) (C) (D)

(A)

(C)

(B)

(D)

(A)

(C)

(B)

(D)
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26). Find out the alternative figure which contains figure (X) as its part. 

 
     (X)                (1)         (2)         (3)        (4) 

27). In the following question, find the figure out of the answer choice 
figures, that can be formed by joining the pieces given in the figure. 

 

 

29). Find out which of the option figure can be formed from the pieces given in figure 

(X). 

30). Select the alternative in which the specified components of the key figure (X) are 
found. 

A      B      C       D

A      B      C       D

A      B      C       D

A      B      C       D

A        B         C         D

28). Select a figure from the given options which fits exactly into Fig. (X) 
        to form a complete square.
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31). Select the figure which satisfies the same conditions of placement of the dots as 
in Figure-X. 

 

32). Select	a	�igure	from	the	options	which	does	not	satisfy	the	same	condition	of	

placement	of	the	dots	as	in	the	given	�igure.	

									

(A)    (B)
 

(C)
  

(D)
  

33). Find the minimum number of straight lines required to make the given figure. 

 

(A)16  (B)17  (C)18  (D)19 

34). Find the number of triangles in the given figure. 

(A) 12  (B) 18  (C) 22  (D) 26 

								

A      B      C       D
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35). Count the number of cubes in the given figure. 

 

(A)22  (B)24  (C)26  (D)20 

36). Here two positions of dice are shown. If there are two dots in the bottom, then 
how many dots will be on the top? 

 

(A)2  (B)3  (C) 5  (D) 6 

37). When the given figure is folded to form a cube then which face is opposite to 

the face with 2?           

   
A. 2  B. 4 

C. 1  D. 6 

38). Choose a figure which would most closely resemble the unfolded form of Figure 
(Z). 

 

(A)1  (B)2  (C)3  (D)4 

6

1

3 4

2

5
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(A)1  (B)2  (C)3  (D)4 

40). Choose the correct water image of the given figure (X) from amongst the four 
alternatives. 

 
(A)1  (B)2  (C)3  (D)4 

41). Some boys are sitting in three rows all facing North such that A is in the middle 
row. P is just to the right of A but in the same row. Q is just behind of P while R is in 
the North of A. In which direction of R is Q? 

(A)South   (B)South-West 

(C)North-East  (D)South-East 

42). If '-' stands for '+', '+' stands for 'x', 'x' stands for '-', then which one of the 

following is not correct? 

(A) 22 + 7 - 3 x 9 = 148          (B) 33 x 5 - 10 + 20 = 228 

(C) 7 + 28 - 3 x 52 = 127        (D) 44 - 9 + 6 x 11 = 87 

39). Select a suitable figure from the four alternatives that would complete the figure 
matrix. 

?

1)

2)

3)

4)
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43).This question is based on the following information: 

1. M % N means M is the son of N. 
2. M @ N means M is the sister of N. 
3. M $ N means M is the father of N. 

Which of the following shows the relation that S is the father of Q? 

(A)S @ P $ Q  (B)Q @ P % S 

(C)Q $ S @ P  (D)None of these 

 
(A)160 (B)120 (C)83  (D)55 

45).  In each word of the following questions consists of pair of words bearing a relationship 

among these, from amongst the alternatives, pick up the pair that best illustrate a similar 
relationship: Numismatist : Coins 

(A)Jeweller : Jewels  (B)Cartographer : Maps   

(C)Philatelist : Stamps (D)Geneticist : Chromosomes 

46). Count the number of triangles and squares in the given figure. 

 

(A)36 triangles, 7 squares 

(B)38 triangles, 9 squares 

(C)40 triangles, 7 squares 

(D)42 triangles, 9 squares 

 

44). Find the missing number. 

7

5

9

38

22

9

11

77

5

11

15

?
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47). The figure given on the left hand side in each of the following questions is folded to form 

a box. Choose from the alternatives (1), (2), (3) and (4) the boxes that is similar to the box 
formed  

(A)1 and 3 only  (B)2 and 4 only 

(C)2 and 3 only  (D)1, 2, 3 and 4 

48). A cube is painted red along all its faces and then divided into 27 

smaller identical pieces. How many of the resultant pieces will have three 
face painted? 

(A)24  (B)20  (C)8  (D)12 

49). In each of the following questions, find the figure given in the answer choices, 

that can form the question figure. 

 

50). Find out from amongst the four alternatives as to how the pattern would appear 

when the transparent sheet is folded at the dotted line. 

 

     

(X) 

                    

(1) 

                

(2) 

                

(3) 

                

(4)

 
(A)1  (B)2  (C)3  (D)4 

Question Figure Answer Figures

(A) (B) (C) (D)
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You  will get additional 10 minutes to fill up information about yourself on the OMR sheet before the start of 

the exam.

Write your Name, Class & Roll Number clearly on the OMR sheet and do not forget to sign it. We will 

share your marks / result  and other information related to SOQ exams on your mobile number.

The question paper comprises three sections:

Section - 1 : Grammar & Vocabulary (20 Q.)  Section - 2  : Comprehension (20 Q.)  Section 3 : Achiever’s 

Section (10 Q.) 

All questions are compulsory. There is no negative marking. Use of calculator is not permitted. 

There is only ONE correct answer.  Choose only one option for an answer.

To mark your choice of answer by darkening the circle on the OMR sheet, use black ball point pen only. 

E.g.

Q.16. In the water cycle condensation is the process of 

A.  Water vapour cooling down and turning into liquid    B. Ice warming up and turning into a liquid 

C.  Liquid cooling down and turning into ice                   D. Liquid warming up and turning into water vapour

As the correct answer is option A, you must darken the circle corresponding to option A on the OMR sheet 

as shown in the figure

Rough work should be done in the blank space provided in the booklet

Return the OMR sheet to the invigilator at the end of the exam.

16.
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C)                        
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A)

B)                        

C)                        

D)

 Technology has had a profound impact on society in recent years. From 
smartphones to social media platforms, new technologies have changed the 
way we communicate, work, and interact with one another. One of the most 
significant changes brought about by technology is the rise of social media. 
Platforms such as Facebook, Twitter, and Instagram have allowed people to 
connect with one another in ways that were previously impossible. However, 
these platforms have also been associated with negative effects, including 
increased rates of cyberbullying and a decrease in face-to-face 
communication. 
 Another way in which technology has impacted society is through 
changes in the workplace. Advances in automation and artificial intelligence 
have led to concerns about the displacement of workers and the need for 
retraining and reskilling. On the other hand, technology has also created new 
job opportunities, particularly in fields such as computer science and
information technology. However, the internet has also brought about 
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challenges related to the spread of misinformation and fake news. Social media 
platforms, in particular, have been criticized for their role in amplifying false 
information and contributing to the erosion of trust in traditional sources of news 
and information.
 In conclusion, the impact of technology on society has been profound and 
multifaceted. While technology has brought about many positive changes, such as 
increased connectivity and access to information, it has also created new 
challenges and risks. As we continue to develop and use new technologies, it is 
important to consider their potential impact on society and work to mitigate any 
negative effects. Technology has also had a significant impact on the way we 
access information. With the rise of the internet, people now have access to a vast
amount of information on virtually any topic imaginable. This has led to a 
democratization of knowledge, as people are no longer dependent on traditional 
gatekeepers such as publishers and editors to access information.

A)                                                         B)

C)                                                         D)

A)

B)

C)

D)

A)                                            B)

C)                                            D)

A)

B)

C)

D)
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 Ants are small insects that live in colonies. They are found almost everywhere 
on Earth, from forests to deserts, and even in your backyard. Ant colonies can 
consist of just a few ants to millions of ants!Ants are known for their hard work and 
teamwork. Each ant has a specific job within the colony. Some ants gather food, 
while others take care of the young ants. The queen ant's main job is to lay eggs to 
grow the colony.Ants communicate with each other using chemicals called 
pheromones. They leave trails of pheromones to lead other ants to food sources or 
to warn them of danger.Ants are also incredibly strong for their size. They can carry 
objects many times their own weight! This strength helps them transport food and 
build their nests.Ants play an essential role in ecosystems by controlling 
populations of other insects and aerating the soil. They are fascinating creatures to 
observe and can teach us valuable lessons about hard work and cooperation.

31. What do ants use to communicate?

A) Sound            B) Pheromones            
C) Visual signals          D) None of the above

32. What is the main job of the queen ant? 
A) Gather food           B) Protect the colony
C) Lay eggs               D) Build nests

33. Where can ants be found?
A) Only in forests      B) Only in deserts
C) Everywhere          D) Only in gardens

34. What is one of the roles of ants in ecosystems?
A) Pollination                        B) Controlling insect populations
C) Spreading diseases         D) None of the above

35. How do ants transport food?
A) By flying                            B) By swimming
C) By crawling                       D) By using telepathy
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A)                                 B)               C)                              D) 

For

 The sun dipped below the horizon, casting a warm glow across the 
meadow. As the day surrendered to dusk, the meadow transformed into a 
magical realm, where fireflies flickered like tiny stars. The air was filled with the 
symphony of crickets and the distant hoots of an owl. In this enchanting setting, 
a group of friends gathered for a picnic. They spread a vibrant blanket on the 
soft grass, unpacked sandwiches, and shared laughter. 
 As the friends enjoyed their meal, they noticed a family of deer grazing 
peacefully nearby. The children marveled at the gentle creatures, their eyes 
wide with wonder. The setting sun painted the sky in hues of orange and pink, 
creating a breathtaking canvas. The friends sat in awe, appreciating the 
beauty of nature.

 Once upon a time, in a faraway land, there existed an enchanted forest that 
was rumored to hold magical secrets. Legend had it that the ancient trees whispered 
secrets to those who listened closely, and the flowers bloomed with colors unseen in 
the human world. 
 Deep within the heart of the forest, a hidden treasure was said to be guarded by 
mystical creatures. The air was filled with the sweet melody of singing birds, and the 
sunlight filtered through the dense foliage, creating a mesmerizing play of light and 
shadows.
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A) Ancient Artifacts            b) Magical Secrets   
c) Painting                         d) All of the above

A)                                  B)

C)                                  D)  

A)                                                             B)

C)                                                             D) 

A)                                  B)                       C)                                D) 

A)                                                             B) 

C)                                                             D) 

 As the sun set, the  forest came alive with the glow of fireflies, creating a 
magical spectacle that captivated anyone fortunate enough to witness it. The air was 
thick with the fragrance of exotic flowers, and the ground was covered in a carpet of 
moss that felt like a cushion beneath one's feet. 
 The forest was a haven for rare and endangered species, living peacefully in 
harmony with the enchanted surroundings. Visitors who dared to enter were said to 
be granted a wish if they truly respected the magic of the forest.

46. We use this phrase to agree to a suggestion or an idea

A) I Appreciate it .                                                            

B) That sounds good.

C) I will agree always.

D) All of the above .
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47. How will you reply to someone who waits for information ?

A) I will call you soon.                                                          

B) I’ll get hack to you.

C) I’ll get back to you.

D) I will inform you, whenever I get time.

50. ‘Receptionist ;

       Passenger ; Could you tell me whether the flight is on time?

       ‘Receptionist ; Yes, of course. Sir, I will do that for you.

(A) What do you want?                (B) Why are you standing over here?

(C) How may I help you?              (D) What information do you need?
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